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1 Solve the absolute valve inequality 2|x 7| = & algebraically.
Select the nomber line showing the solotion.
Divide both sides by 2. S e S o
2x =7 = 6 or Types
5 2 and| or
< >
Rewrite as two inequalities.
FEs Ll
Negative Positive
<or>C—>0
“Mx—7) >3 or x—7>73 [gorgl:{).}
X8/ > 3 +7  +/
Flip the — -7
inequality sign > 4 X :—> 10
whenmultiphing —X = =1L
or dividing by a - -1
ativ
negative x <4
| I I I I I
~— —t———t+—t—+
-4 2 0 2 4 6 8 10 12 14 16 18
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) Solve the absolote valvue inequality |2% 8| < &6 algebraically.
Select the nomber line showing the solotion.

|2x —8| < 6
Negative Positive

—2x —8 < 6and 2x —8< 6
X+ &< 6 j—* +8
— —8 B%(_EL

2 Z 2

N \z

x>landx <7
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3  Solve the absolote valve inequality algebraically. Select the correct

— graph of the solotion.
Order of operation backward
7
2|x — 5 |+2>6 A &
7 M D
2|x — —| +E > 6
2' Ly 2
7/
x—<| > 4
2 2
X
7
|X - E| > 2
Nega‘civ&/ \ Postive
7/ Flip symbol 7
X %= <-2 X \—>2
2
+¥ + % o+ %
11
X < g X > B)
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Solve the absolute valve inequality [2x + 1| 1 < 4 algebraically.

1 Select the correct solotion.
Order of operation backward

px+1p‘\< 4 A S
+ +1
M D

2x +1| < 5

AN

Neggﬁi:’i _ﬂ Positive

2x%{>—5 2X+*<5

_ -1 ~N -1

X > — <4

>4 4

X >—3 X <2

< | | ! | | | | | [ | Iy

| | | 1 | | | S | | |
-6 -5 = 3 -2 1 0 1 2 3 < 5 &
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Solve the absolute valve inequality 2|x + 4| + 4 = 10 algebraically.

Select the nomber line showing the correct answer.

21X + 4|+ > 10
o+l vg > 1C

Order of operation backward

A S

2x +4] > 6
) 2
Ix +4| > 3

—

Negative(rip)

MD

Positive

X +4<-3 -X%i23
_ il ~-% -4

) Gl

X <—7
i

——+
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6 | Solve the absolute Yalue meguahtg algebraically. | | x + 11 | ~11<-8
—— Select the nomber line showing the correct solotion.

x+11|—-11 < -8
| I
|X + 11 | < 3 Add 11 to both sides.

Rewrite as two inequalities.

Negative (Flip symbol) Positive
Xx+11=-3 and x+11<3
Subtract 11 from both sides of both inequalities.
x=—14 and X <—8

T
. _ -8 ..
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7 | Solve the absolute valve inequality 5lx 3| 2 <13 algebraically.
Select the nomber line below that shows the correct solotion.

—5|x —3|-2 < 13
—5x —3|] < 15 Add 2 to both sides.
Ix —3| > —3 Divide both sides by —5.

Absolute valve is always

Positive* > Negative (3)

Always Troe, so all real nombers.

*The left—hand side is always positive or zero, so the inequality is always troe

color the whole line!
| | | | | | | | | |
‘* | | | | | | | | 1 | +’
-5 4 -3 2 -1 0 1 2 3 4 5 6
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Solve the absolute value inequality Alx + 4| + 14 < 5 algebraically.
Select the nomber line showing the solotion.

Ix +4|+14 < 5
9lx +4| < —9 Subtract 14 from both sides.
Ix +4| < —1 Divide both sides by 9.

Absoloute valve is always <

Positive* Negative (1)

Always False, so No Solutions.

*The left—hand side of the inequality is always positive or zero, so it can never be less
than 1.

No color, empty line!
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9 Determine whether each of the integers from 5to 5

is a solution of the inequality Ix 1| 4 = 1.

Part 1 out of 2
Drag and drop the integers below into the correct categories to show whether

each of the integers is a solution of the inequality.

Solution Mot a Solution |X - '|| -4 <-1
} 4
5
x -1 = 3
2 -1 0 1 ,
Negative(Flip) Positive
-3 X0 = -3 X21<3
2 3 4 h +] h +1
o X = -2 X< 4

s Ed . -
Mot a solution -'D"”"'|" Mok o solotion
- | s

Part 2 oot of 2
Plot the solotions on the nomber line.

10
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10 Determine whether each of the integers from 5to 5

is a solution of the inequality |x 1+ 3 = 5.
Part 1 out of 2

Drag and drop the integers below into the correct categories to show whether each of
the integers is a solution of the inequality.

Solution Mot a Solution |X _ 1| +g} 5
-3 -3
1
— x—=1] =2
2 Negative(rliip) Positive
X - 7}’5 -2 L xz ,
| N e
..3 3 -2 5
. Saolutio [ Mota ;'fm'c-'e'-"::lr.' _
_ 1 >

Part 2 ovt of 2

Plot the solotions on the nomber line.

. . . . . ]| . . -
-5 -4 -3 2 1 0 1 2 3 4 5
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